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FCFS CPU &Fl=2
T

bt[10].tat{10), wt{10), at(10]
i,j. n_k temp, min
avwt=0, avtotd, nt=0

>l

7

No

=0 i{n: ie e

sconf ot bt

|

=2 n=1liee

Yes

min = i
jRiviijn: jre
if(atlj) { otimin])
min = i°

= at{i):
o!(u] ctimin):
ot(min] = temp:

temp = befi]:
N(-) = be{min);
bt{min] » temp:

ntenteat(0]+bHO]:

=0 in: ie+

tatlil=bt{il ewtli):

avtat=avtotetot(i):

P10,
NAME Arrive,
Burst Wait tot

=0 idn: s+

irliv) atlilb

eli),weli) tatli)

=1 in: iee

if(atli] (= nt){
wili]l=nt-ot{i]:

nt=nte bt(i}:)
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X S0I2 Z2M|L7F CPU X3S
ZZN A0 eFote UEY 22ET

2 AR



CElxamE

#include =stdio.h=

int bt[10],tat[10],wi[10].at[10];
int ij,nk.temp, min;
float avwt=0 avtat=0nt=0;

void proc_making {
printfi(" ZE M2 7+ SE[H
CH 100 - ";
scanf("%ed", &n);
ifin = 100 {
printf("Max value
is 10M80";

else |
for(i=0;i<n;i++) {

printf("Poed",i+13;
printf("wn== AZE:");
scanf("9ed", &atli]);
printf("==3 AlTH:");
scanf("%ed", 8Lbt[i]);
printf("#%n'");

}

veid scheduling {
for(i=0; i=n-1; i+=+) {
min = i;
for(j=i+1; j=n; j++) {
ifiat[j] = at[min]) min = j;

H

temp = at[i];

at[i] = at[min];

at[min] = temp;
temp = bt[i];

bt[i] = bt[min];

bt[min] = temp;
H
]

void wait_time( {
wi[0]=0;
nt=nit+at[0]+bt[0];
for(i=1;1<ni++) {
if{at[i]<=nt) {

wi[i]=nt-at[i];

nt=nt+bt[i];
H
avwt=avwt+wi[i];
H
¥

void turn_arcund_time {
for(i=0i<n;i=+) {

tat[i] =bt[i]+wi[i];
avtat=aviat+tat[i];

H
¥
void maing {
proc_making();
scheduling(;
wait_time);

turn_around_time;

printf("#nPIDWNAMERLArTIVE
BurstwtWaitwtiathin™);

for(i=0;i<ni++) {

printf("SedwtPoodwtSedw oo ds
toedwised”,i=1,i+1,at[i], bili], wili].tat[i]);
printfi"#n");

¥

printf{("® = CHI| ALt = %f
wWnEZ gr= ATE = %f Wn'avwit/n,avtatsn);
}
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JAVA

He fdn Sone Reigr Baipt Sepch Bosct b Bedw b

Bmpctbgl, 10 = O [l beorkompea [ Duloglompa [ besorkum jna 5 | =g

Bkl L oleport Sava.awt.t) a8 i
y & 4 I public class BettonExaz satends Fraze| )
y & 1 = publio Buttealuan(} | .’.
v (@ e i wupar[=8*); .
y b Fanel penew Pasel();
v (5 i Buttom bl®new Buttonl);
v @ 7 Butesn blenew Button(“el 1%):
v [ i pingn fI ¢ bl setlakel ("m8"):
+ i putguea | ¢ .
» W BE Sy try o -7 peaddElly
v iy i pendd0d) 1
v At H} addiph;
v [ ety l°7 senbocation (200, 200);
o [ Boetam 1 satdize {2150, 100} ;
b W JRE Syeen Loy 0 EY satvisible(truel
b & ek H 1 i
3 gm}ﬂ il F.i.lh".- atatle wold h.d.n[.ILrll‘ [1 argail
y e H naw Battoaluan();
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JAVA

= import java.ioc.BufferedReader;
import java.lo.BufferedWriter;
import java.io.FileMotFoundException;
import java.ic.FileReader;
import java.io.FileWriter;
import java.io.IQException;
import java.util.Scanner;

WU s Wk e

L2 public class test {

L2 static Scanner scan = mew Scanner(System.in);
L3 static String filePath= 'c:‘.\ttst‘ﬂ.book.hct'; —?—0" &ﬂ@fﬂé @EGIEI-

L5& public static void main(String[] args) throws IDException {

14

L7 System.out.println(~SM 2 BRIV ");

L8 System.owt.println(™1. % 88 &5");

19 System.out.println{~2. =4 @4");

a System.out.println{~3. 47 =M F717);

3] System.out.println{™4. =82 =M J2|");

1z System.out.println{™@. ZEIE F&");

13

1 int cholce = 8;

15 choice = inputchoice();

16

7 switch(cholce)}{

-] case 1:

-] printBooks();

3@ break;

31 case 2:

32 searchBooks();

33 break;

34 case 3:

35 insertBooks(); .

2 b::-k; Switch& 0|=6)
case 4:

38 deleteBooks(); Cfot H29| HitE HiFEICEH

39 break;

48 case @:

41 Systes.out.println("FRTLCG");

42 System.exit(@);

43 break;

44 default:

45 Systes.out, println("CA LRAWSER.7);

46

a7 ¥ !

48

48— private static int inputCholce() {

5@ int choice = -1;

51

52 System_out.println{"Stsas : *);  SCANSE

53 choice = scan.nextInt();

54 0 AL2Xt2| YU v WLt

55 System.out.printla("29E A% ¢ " + choice);

56 System.out.printlnf);

57 return cholce;

S8 ¥

59

[ o private static void deleteBooks() {



JAVA

Systes.out.println("% 47");

62

63 }

64

65= private static void insertBooks() throws IOException {

66 Systes.out.println("F7iE =2 TuE UYVAUIMR.7);

67

68 scan.nextline();

69 System.out.printin("= 0ig : ");

78 String name = scon.nextLine();

71

= f=1

72 - e LR ¢ 2LHOAM 32 UHPE FL
73 Str suthor = scan.nextline(); o X ILA

. . » S =I1510]

75 Systes.out.println("§Z4 : "); X0 ”MHE © il THLC |
76 String publisher = scan.nextline(); 01&’ I- I_I OEE 'ng IJ" A I.
77

78 System.out.println("s 2= : “);

79 String number = scan.nextline();

8@

81 Systes.out.println("73 : 7);

82 String cost = scan.nextLine();

83

84 Systes.out.println(" 2= 87); x
85 System.out.println("= 0lg : " + name);

86 Systes.out.println("®% : = + author); ol240 Q=

87 System.out.println("$2A : " + publisher); '=' '1 J g-‘-"a

88 System.out.println("% ¥= : " + number); E?I%?‘" %aﬂtr

89 Systes.out.println("73 : " 4+ cost);

9 Bufferedwriter bw= new Bufferediriter(new Fllewiter(f{LeW
92

93 bw.write(name + "\t~ + author + "\t" + publisher + "\t" 4 number + "\t ¥ cost);
94 bw.newLine(); e} ] S

55 bw.close(); ACHUAHE' HAS

=l

5| P ot Z=20] Helsks argolct -
98= private static void searchBooks() {

99 System.out.println(™% H§4");
100
101 }
102
1035 private static void printBooks() throws FileNotFoundException {
124 System.out.printin(™% 8%);
1es BufferedReader br = new BufferedReader(new FileReader(filePath));
106
1e7 String str = 73
108 try{
189 while((str = br.readLine()) != null){
110 System.out.println(str);
111
112 }
113
114 Jcatch (I0Exception e){
115 System.out.println("% TxE A 8 = Ugdth.");
116 System.out.println("XEE =8 ¥& = Te-cH.");
11z e.printStackTrace();
118

119 }
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